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21.  To delete whole words at a time, which y ¥R Fa-d W T Y A 7
should be used in MS-Word ? (A) Eh’;fl?f + TR
(A) Ctrl + Backspace ®) Eb_;ﬁ?f + feofie
(B) Ctrl + Delete C) I + -q;;(ﬁ—(;[ + feofe
HAlee P
(C) Alt+ Ctrl + Delete © : ;510
(D) (A)AT (B)GHI 2
(D) Both (A) or (B) S0
| 4 SH-ET g HE gafer ?
22.  Which of the following pairs is not comrectly —_-22. Gk 3" TR |
matched ? (a) Aol - TSIl A
(A) Salinometer — Measures salinity (B) oiHieX — d9 99
(B) Thermometer — Measures temperature © e _ Ty nfy s
(C) Barometer — Measures air speed .
(D) Clinometer — Measures height (D) &l e - §
23.  Match List — I with List — II and select the 23, T -1 e el - 10 q gﬁﬁ-ﬁ[ Fifvm 3tk
;:'o:rect answer by using code given below the 'ﬁﬁfzﬁ FR A @ F AT ] &
555 I HT = HIRT |
List—1 List —1I
-1 -1
a. Indian Councils 1. Abolished dyarchy w - ‘Eﬁ !
Act of 1861 in the provinces a. WG aiSg 1. il # gy e R
b. Indian Councils 2. Communal FAffEm, 1861 T
Act of 1909 representation b. YR Uiee 2. geIes PIRIEIE
c. Government of 3. Beginning of the yfﬁﬁ-qq’ 1909
India Act of 1919  process of
. c. WRAE wEA 3. faehfemw Y
decentralisation :
d. Government of 4. Bicameralism R ' TﬁgI{?EHTH
India Act of 1935 d. YRdE e 4. W EER
Code rferfrem, 1935
F:
a b c d a b c d
(A) 1 2 3 4 A) 1 2 3 4
(B) 2 3 4 1 (B) 2 3 4 1
?j ; e ©3 2 4
3 1
®) M4 2 3
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‘Make in India® initiative is based on four
pillars. Which of the following is not onc of
these four pillars ?

(A) New processes

(B) New infrastructure

(C) New destinations

(D) New mindset

*Wholesale Price Index’ takes into account /
(A) 487 commodities and services

(B) 567 commodities

(C) 687 commodities and services

(D) 697 commodities

Which of the following issues was not one 26.

of the ‘Singapore issues’ raised during the

first Ministerial Conference of WTO held in

Singapore in 1996 ? rhi0)

(A) Investment gg;g

(B) Environment and Sustainable
Development

(C) Competition Policy

(D) Government Procurement

Identify the cyber attack in which attackers ~_-27,

attempt to overwhelm systems and prevent
some or all valid requests from being fulfilled

by flooding a website or a network resource
with excessive requests.

(A) Trojan Horse
(B) Denial of service
(C) Spam

(D) Phishing

iy
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Which of the following statement js/arc

correct ?
Statement 1 : Foreign capital is helpful t°

raise the level of investment.

Statement II : Foreign capital is helpful I

expansion of technical knowledge-

(A) Only Statement 1
(B) Only Statement 11
(C) Both Statements Iand Il

(D) Neither Statement I nor Statement 1I

Which one of the following pair is not
correctly matched ?
Food grain Name in the treatisé
(A) Rice - Brihi
(B) Urad - Mash
(C) Barley - Yav
(D) Wheat - Gomat
Match the List — I with List— I1 and choose the
correct answer from the code given below the
lists.
List—1I List — 11
a. Budget 1. Economic Reforms
b. NABARD 2. Inflation
c. FEMA 3. Annual Financial
Statements
d. CPI 4. SHG-Bank Linkage
Programme
Code :
a b c d
A4 3 2 1
B3 4 1 2
©1 2 3 4
4 1 2 3
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A4 3 2 1
.B)3 4 1 2
©1 2 3 4
D)4 1 2 3
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The famous script ‘Mattavilas Prahsan’ was
written by

(A) Singhvishnu

(B) Narsinghvarman — I

(C) Mahendravarman —1

(D) Parmeshwarvarman — I

B0
PTwiEh
B

Which of the following statement(s) is/are
true about Panchayati Raj Institutions in
Uttarakhand ?
1. The State of Uttarakhand does not have its
own Panchayati Raj Act.
2. One-third of the seats are reserved for
women.
3. Block Development Councils have been
set up at intermediate level.

4. Block Development Officer acts as

32;
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freffad # @ SH-91 HF FE & 7

|, ITES TSI D AT Gt TS
rferforem 7 2 |

2. T Taerd e afgenati & forg smiar
g |

3. WUg fashra URwgl w1 Ted HEFadl &R
W fopan T R |

4. @g feepra IR, @Us o™

Secretary to the Block Development aReg (&% 9=Rd) & aie b w9 A
Council (Kshetra Panchayat). HR T B |
Select the correct answer by using the code = ﬁ{Q RILY 35‘3[ <! ggrEar 4 HE I BT
given below : T B :
Code : Fe
(A) 1,2and 4 (A) 1,23ﬁ'{4
(B) 2,3and 4 (B)233:ﬁ'{4
(C) 2and 3 (C) zaﬁ'{ 3
(D) 3 and 4 (D) 331 4
-9- C
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34.

35.

36.

33.

Statement I : Fiscal Policy is the us¢
of Government revenue collection and
expenditure to influence the economy-

d
Statement II : Both revenue expendit®® anf
capital expenditure are the subject matters ©

monetary policy.

Which of the above statement is/aré correct ?
(A) Only statement I

(B) Only statement II

(C) Both statements I and _II

(D) Neither statement I nor statement 11

Which of the following is not a valid version

of Internet Protocol (IP) ?
(A) IPV4
(B) IPV6

(C) IPV1I

[E:25(s
I5! "‘?’ £
e

(D) None of these

Which of the following is known as
Manchester of South India ?

(A) Coimbatore
(B) Madurai
(C) Tuticorin
(D) Mettur

The increment of ‘Reverse Repo Rate’ by the
Reserve Bank of India leads to

(A) Inflation
(B) Reducing liquidity and demand
(C) More liquidity in the market

(D) Promoting competition

————
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Which country/confederation of countries
was made a permanent member of G-20 at
the 18" Summit of G-20 held at New Delhi in
September 2023 ?

(A) European Union
(B) African Union
(C) United Arab Emirates

(D) Bangladesh

Match List — I with List — II. 38.
List -1 List —II
a. Dada Bhai Nauroji 1. The people
b. Gopal Krishna 2. The Maratha
Gokhale
c. Bal Gangadhar Tilak 3. Deccan
%’E\] Education
3% Society
d. Lala Lajpat Rai 4. Bombay
Association

Choose correct answer from the code given

below :
Code :

a b c d
A4 3 2 1
B)3 2 1 4
o1 2 3 4
D3 4 2 |

Pi
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e 2023 7% foeefl 7 SRR G20 %
13 3 fore wwier 66 o/t 3 e
&1 G-20 =1 TIRA TEE S T 7
(a) T
(@) IR T
(C)ggﬁmaqtﬂm
(D) e

et — 1901 et - 118 AR i |

gl -1 gt - 11
a g St 1. fQfige
b. TUTeT MEet 2. T waT
c. ST TER foeeh 3. SapA TIHIA
LI
d. AT ANEA T 4. S TG
A fow o 2 W A T I w1 = F
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Match List i : H?ﬂ -1 5! '{f:ﬁ -1 ¥ o Sl
St = Twith List - 11 and select the .
Correet 4 'eﬁ;ﬁaﬁ—anﬂqwi%‘rmaﬂﬂ%ﬁ
0 hswer by using the code piven below Hﬁﬁ '
the lig(g i~ SO0 oL I 1 T T |
3 = Il
. A List -1 List - 11 =l
| Snnual Financial 1. Article 106 a. afdeh forcta - SRR
tate
e ment b, Higel % Aa 2. ITAE 110
- Salary and Allowances 2. Article 110 CR:K|
of Mp
- ’ . v fdee 3. I 112
» Money Bill 3. Article 112 d. FiTEE % PO 4. ITTHE 392
d. Power of Presid i .
t 392
ldent 4. Article 1 Wqﬁ[ HT
to remove difficulties SRR
Code :
®e:
a b ¢ d a b ¢ d
A1 2 3 4 A1 2 3 4
@2 1 4 3 @2 1 4 3
(C)3124!§f@§7 ©3 1 2 4
4 3 2 1 Hd 4 3 2 1
Read the following statements. 40. Tr=folRe st 1 q% |
Statement 1 : Delhi — Mumbai Expressway is w1 : ool -gras e <9 1 gl
longest signal free expressway in the country. =T 9ohdsh 2 Cil Qwﬁ'aé % |
Statement 2 : This Expressway passes HUA 2 : Ig THENHS UiE TSA ghEmm,
through five States of Haryana, Rajasthan, TSRM, ey TSR TR ¥ AR
)
Madhya Pradesh, Gujarat and Maharashtra. ’
TSRA R |
Which of the above statements is correct ? TR
SRR et -HTHRI R ?
(A) Only 1 (A) T |
(B) Only2 (B) haeT 2
(C) Both 1and2 ©) 13K 22
(D) Both 1and2arewrong (D) 1 3R 2GR TTorg &

-12-
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Which of the following is not a type of
primary memory ?

(A) Random Access Memory (RAM)
(B) Read Only Memory (ROM)

(C) Cache Memory

(D) Magnetic Disk

Which of the following Committees was

constituted for reforms in Tax Structure ?
(A) Chelliah Committee

(B) Tendulkar Committee

(C) Lakdawala Committee

(D) Manmohan Singh Committee

Who after conquering most part of northern

India, took the title of ‘Shiladitya’ ?
(A) Prabhakarvardhan

(B) Harsha

(C) Grhavarman

(D) Rajyashri

Which of the following countries does not
share a border with Israel ?

(A) Syria

(B) Jordan

(C) Lebanon

(D) Iran

s T

-13-
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47.

P

i "
Wi Wy was bculcn l)y Germany {o

N the Inis . .
(F1H) Nermnational Hockey Federation

o Men’s Hockey w; 023 held in
disha, Ingjy 9 y World Cup, 2

(A) Australig
(B) Belgium
(©) Spain

(D) Netherlang

Consider the following statements :

Statement 1 . Foreign Investment includes

Foreign Direct Investment and Foreign
Portfolio Investment,

Statement 2 : Foreign Investment includes

only Foreign Direct Investment.

Which of the above statement is/are correct ?

(A) Statement 1 only 5?{36‘!3
B )

(B) Statement 2 only & ,ﬁ%

(C) Both statements 1 and 2

(D) Neither statement 1 nor 2

Read the following statements.

Statement 1 : Deen Dayal Upadhyay-
Grameen Kaushal Yojna (DDU-GKY) is
a market led, placement linked training
programme for the rural youth.

Statement 2 : The focus of this programme is
on the rural youth from poor families, in the
age-group of 15 to 25 years.

Statement 3 : F ull social inclusion of

candidates is ensured.

Which of the above statements is correct ?
(A) Only 1 and 2

(B) Only 1 and 3

(C) Only 2and3
(D) Alll,2 and 3 are correct

————

47.
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F=fRad Al I 9¢ ¢

Fo 1 : feeht PRw % aria goae fereft
g aun fresht geama frem =i it
fpan ST B |
WZﬁ%ﬁﬁﬁa’ﬂﬁaﬁﬁmﬁﬁ%{?ﬁ
Ay =1 wnfret fopam STan 2

Jogead el f & FA-F/8 TE /T 7
(A) Had HY 1

(B) hael Y 2

(C) QI A 1 31K 2

(D) 7 @ e 1 3T @ 2
frafeiaa eFl 1 96 |

T 1 : §F T IUTAI-UTHIOT v
A (3.8, - 1. a3,
R & S g e e 3 R e
YGRIh hREA & |

A2 : I8 HRIHA Ao e i % 15
ﬁZSH&%gﬂTaﬁm%@H% l

FU3 ;AR B oot qEfe que
B grfeaa form T 2 |

ST Ferl § § F-T W R 7

(A) T 13 2

(B) el 1 31K 3

(C) heet 2 30 3

(D) ot l,23ﬂ'{ 3-8_@%
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Read the following statements :

I - The objective of India’s Disinvestmen,
Policy is to minimise the presence of
Central Public Sector Undertakings
(CPSUs) including financial institutions
and creating new investment space for the
Private Sector.

II - The objective of India’s Disinvestment
Policy is to mobilise disinvestment
proceeds to finance various social sector
and development programmes.

Which of the above statement is correct ?
(A) Only statement I is correct

(B) Only statement II is correct

(C) Both statements are not correct

(D) Both statements are correct

Match List — I with List — IT and select the

48.
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frefefiaa et = vg

- vra B Rfew #wify & EE %hT;ﬁ?I
e & & IGH (HidiEy) @
o et 1 = Sufeafa qn el
2 % R Fw %1 gET T 2 |

- W?ﬁﬁrﬁ%{‘ﬂ‘vﬁﬁfﬂw%ﬁ%ﬁ@f
T RIS 38 T & T
e el iAo ST R |

TR FYl B Y PH-G1 o T B ?

(A) Faet HYT 1981 B

(B) ¥ael U 1198 8

(C) S e TTeTd &

(D) THI e e &

49, T -1 g - 1@ gafaa iR 3k

correct answer by using code given below the ghet & = A ™ Fe w1 T W wd
lists.
List I List — I W%' 1| o
-1 =
a. Himachal Pradesh 1. Dihang Pass .
a @ wem 1. fgm U™

b. Uttarakhand 2. Rohtang Pass N T —

¢. Sikkim 3. NinilFass c. Rafem 3. fih

d. Arunachal Pradesh 4. NathuLa d. IR W 4. Y
Code : %

a b ¢ d a b ¢ d
A1 2 3 4 A1 2 3 4
B4 3 1 2 @um ®4 3 1 2
©1 2 4 3 Zgd ©1 2 4 3
i D

@2 3 4 |1 ®2 3 4 1
In which of the following cases, the Supreme  50. 1 % I fohw are # wma % He= e
Court of India ruled that the “Parhami": A fofa 3 g F o B, ‘g, M
cannot take away any of the F“nda‘,‘}i’,“ a MR 78 B T, Fe 3 R
Rights, which are ‘Sacrosanct’ in nature™: S % g7
(A) Champakam Dorairajan Case (1951) (A) STy GRISTSH a1 (1951)

(B) Kesavananda Bharati Case (1973) (B) %Wﬂﬁ? Rl a1g (1973)

(C) Minerva Mills Case (1980) (©) Rrrat firew ame (1980)

(D) Golaknath Case (1967) ) e 3 (1967)
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52.

GET IT ON
Google Play

86/23
T @ wattd Ry SR - -
\Vh‘ i = STl Ny
on t'llltc\tl'll be the correet sequence of places 51. aﬁ ?nTg,‘ 3'6'{ 2| ;’g‘«g ';z'q'{ o Sy
Someq a0k of River Kosi in Uttarakhand, if JAUEUS 7 il
@ Anc Moves from North to South ? Tal shH T g 7 .
Imory, Someshwar, Betalghat, Khairna (A) 3reHTS], TR, , Gl

(B) s
omeshwar, Almora, Khairna, Betalghat

(C .
(D; lS(halma, Someshwar’ Almora, Betalghat
Omeshwar, Betalghat, Almora, Khairna

Consider the follo

b
ref::hp .Ofthe Uttarakhand State Government’s
PtS In the financial year 2022 — 23 and find

th i
\© correctly matched options from the options
given below.

1. Share in central taxes

2. Grant in aid from the centre
3. State’s own non-taxes

4. State’s own taxes

wing diagram regarding /SQ

a b c d a b c d
A1 3 2 4 @awtr 3 2 4
@2 1 4 3 ®2 1 4 3
©1 2 3 4 ©1r 2 3 4
@3 1 4 2 M3 1 4 2
53.  Which among the following is named as ﬂ FraferRaa 9 @ o5l “arat am amn’ &t |
‘Paanchwa Dham Yaatra’ ? ARSI % ?
(A) Nandadevi Rajjat Yaatra B (A) TeTeet TSSId AT
(B) Hill Jatra 5{%‘% (B) Teet S
(C) Khatling Rudra Devi Yaatra el (C) Al g1 <&t AT
(D) Varuni Panchkosi Yaatra (D) Iufl Y=epieft I
54. Consider the following statements on Wildlife ELEiC] (H‘{?JUT) aﬁllﬁ'qn, 1972 =i}
(Protection) Act of 1972. frefoiaa wemt w Rem =t |
1. Bharaland Musk deer found in Uttarakhand 1. IWEE § gy M 9t a9
are comprised in Schedule 1 of Wildlife FE{TT T2l (s sttty
(Protection) Act of 1972. 1972 1 g | e 8
5. Hornbill is included in Schedule 2. 2. Y4 STIER 2 % Wit 2 |
Which of the above statement is/are correct 9 SR fe e weri o HH-T1/Y HE /2 ?
(A) Only 1 (B) O“.lyz (A) HIA | (B) haet 2 Ax
(C) Both 1 and 2 (D) Neither | yo; 5 (C) 13 2 N
PG — 7 (D) A 1 3T 2
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GET IT ON
Google Play

Ty
E\E 86/23
g5, Saraun, Harul, Chhaupti, Langveer are \,ji/gﬁ, BrEd, B, emfer 7
(A) |.l||ls of l.lunm.khnnd (A) FTETE T #1 maifeat
(g: ::u;;u;um I\'Ius;leJ\ltl115;:111101113 (B) W * qreEra
(D Go | m;c;so ttarakhand (C) IAETE ¥ m
) h t
(D) Garhwali Ormaments (D) TIGEITFﬁ S
56. Select .the correctly matched pairs .in the __s61 frefefaa o Td 'ﬂ"‘ﬁ & ﬂﬁq Qa’ ET +
following and answer from code given ﬂﬁ
below. AR T 3?“ !
1. Headquarter of Jim 1. o e T
Corbett National Park — Kalagarh M 1 gEed - PIEe
2. Mayawati 2. HIETE 3AH —  9mEd
Ashram — Champawat 3, <t T —  HEIE
3. Chaiti Fair —  Kashipur 4. ST T - g
4. Jhanda Mela — Dehradun T2
Code : ¥y X
(A) 1and?2 (B) 2 and 3 (A) 1092 (B) 2Td3
(C) 2and 4 (D) 3 and 4 (C) 2T 4 (D) 3 T4 4
57. ‘Phasna Shikhar Style’ temple is related to 57 “pigaT IR Reft’ Afct foraQ gefta & ?
(A) Sun Temple, Palethi (Tehri Garhwal) (A) & Hfe, Tt (fewdt meaTer)
(B) Veerbhadra and Vasudev Temple, %;JE] (B) g @ ‘q’rgi‘ol ‘qﬁ'{, TAUEHITE
Narayankoti (Chamoli) S (=)
(C) Baleshwar Temple, Jageshwar (Almora) (C) STIvaR Hfey, SMITeR (3TeHIST)
(D) All of the above (D) U wt
58.  Which of the following statements are correct ? o= L fafefaa A ﬁ T*?FT-'@ FREATE B ?
1. Itwasin 1839 that Kumaon Commissionary 1. 1839§. ) W Eﬁﬁfﬁ'ﬁ e ?ﬁ ISR
was divided into two districts. e fopaT = o |
2. G. W. Traill was the settlement officer of 9 \—,ﬁ T, 2?1 o Sl (1815-16)
First Settlement (1815-16). T gcraed 31Ul o |
3. Eighth settlement is also known as Pau 3, aTred e | T SaE s F
settlement’. T ? |
4, opular as o . ]
llil:etventh selttlemctant became pop 4. TREST T ST S % T
utson settlement. A SrERE
: AT
Select the correct answer from the codes given P _§', | .
below, few g et & & W I B = H
Code : ?5{ :
(A) 1and 3 (B) 2and3 (A) 137 3 (B) 23 3
—(© 1,2and4 (D)Maﬂu (D) 1,233
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% What wag e —_— /8( g 1 et SAfeRT <l JTETERY TEEH %
Rif'es : fthe land granted to person : Y FAT T T AT 2
Xt ordinary chivalry in Kumaon region ? R gA @ $ *ffH p '
(A) Shir (B} R @) ®)
(©) Darak (D) Vidhimalika (©) T )
®0. Maten List~ I with List - 11 and select the correct /65 g -1 F U B
: : T T B A
ANSWer by using the code given below the lists. gl % A9 16T T RS ‘
List -1 List—1I W ﬂﬁq !
3. Renuka Devj Temple 1. Farashu ‘Eﬁ - I H\%ﬁ =t
b. Raghunath Temple 2. Nakuri a. h{[ﬂﬂ et wfex 1. ]
C. Parshuram Temple 3. Mana b. T T 2. gl
d. Matamoortj Temple 4. Devprayag c. YRH Ilﬁ'( 3. Hrom
Code : d. ATamfd wheT 4. QEYAT
a b ¢ d %e:
W2 1 3 4 a b ¢
®3 2 1 4 ®3 2 1 4
©2 4 1 3 ©2 4 1 3
™1 2 3 g4 ™1 2 3 4

61. Which of the following pairs are not correct ? Jf . Tmafofee 4 @S- I gat gl g7
a. HIRAA G AT - wHieh

a. Katarmal Sun Temple — Kosi

b. Bharat Cave —  Pithoragarh b. W THI ~ TugRre
c. Golu Devata —  Chitai c. e e I G
d. Thal Kedar —  Chamoli d. ¥ HeR —  THeh
(A) a, b,candd (A) a, b,c 3R d
(B) bandc (B) b3 ¢
(C) candd P () c 34
(D) bandd Ghge D) b a4
ich district of Uttarakhand i : ;
*% ga:‘;l::l;):ilng developed ? A jf m; ;ﬁg Fe _‘Sﬁ%ﬂ s i
(A) sz:rja::‘:a' (A) Tzl e
E(BJ; /]:ltmorag & m
(D) Uttarkashi © m
e — (D) STCHt
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63.

65.

66.

e

GET IT ON
Google Play

86/23
: —— W’m/a“a'”“%wj :
As chms/c'lmflsx\'nm cuisine is nssociated \\filh 03. Tﬁ;rd % 34! wepn frey 1 ﬁqmﬂ i
Garhwal similarly which one of the following .a i 2 =41 ey
cuisine is associated with Kumaon ? R 7
(A) Fafrola (B) Rotana (A) tﬁ‘?’:f'al (B) Trer
D [s
(C) Gathwani (D) Ras/thatwani () L (D) & /zzarh
ageR Ffefaa fe 2
District Bageshwar is surrounded by following 64~ ST o &m &l
districts o ) R ATG, THTed, 3Terre
(A) Pithoragarh, Champawat, Almora "5“,%%' ® ﬁgﬁ'(rrr(g 31"@[3‘[ SRl
(B) Pithoragarh, Almora, Chamoli | IIﬂT*ﬁ tﬁ'spf 3F|'_q3f§l
(C) Chamoli, Pauri, Almora (
(D) Pithoragarh, Pauri, Chamoli (D) ﬁm’ lﬂ@’ﬁ’ e
According to the cropping pattern of 65 Ty 2020 — 21 % 3?111@“'5’ Eeity It ¥
Uttarakhand in the year 2020 — 21, arrange 3:|§'HT{ = wEe o BN ElRRic ST
the following crops in the increasing order of EB[ A T SafRrd Hif |
the total area under cultivation. ﬁ'g:‘\
a. Wheat &
b. Paddy b.,¥Hd
c. Mandwa c. edl
d. Sugarcane d. T
Choose the correct answer from the code
given below : L ﬁ'& ™ %< B H—Eﬁ ST bl <A di[iim :
Code : He .
(Wd b G & (A)d b c a
{Besd b Bc db a
C)a b c d " ©a b c d
Whif:h of the following agency regulates ~66. IMrgug oy o wfe I F rferfrafia
tourism industry in Uttarakhand State ? Eae el T N A @ w2 27
(A) Uttarakhand Tourism Development 0
Corporation ) Srgug g Ty
(B) Uttarakhand Tourism and Travel (T e——— - T TR
Development Board ©
(©) Uttarakhand State Tourism Board ) Tgug TS e aivg
(D) Uttarakhand Tourism Development Board (D) S e
Which of the following place is not included 67. q;ﬁl f .
" Panchbaqri 7 ﬁ = 1 @ s gfeferd
(A) Shri Bady; an Badri
adrinath  (B) Dhyan Ba ’}ﬁ
(C) Aag; Badri (D) Vridh Badri (C \m;aﬁ:”?" (B) ?;a:gﬁ
= = o F
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69.

70.

Tl

P

e

hi
U“ﬂ::k;)\:::: l:c following folk ornament of
1: Hiroyg > ot correetly matched ?
2, Mlln::d: = Omaments of foot fingers
3. Charey = Omaments worn in ears
4, Paunch; = Omaments of foot
Code ; = Omaments of hand wrist
@ and (B) 2and3
i (D) 2 and 4

gead e following statements :

z(t)a;tse";e"t. 1 : Uttarakhand M.S.M.E. Policy,

Statec assifies the State into five categories.
~CMent 2 : As per the policy, production

umts. Will be allowed the financial incentives

provided in the policy upto maximum 15 years

from the date of starting production, or upto

31 March 2030, whichever is earlier.

Which of the above statements is correct ?

(A) Only 1

(B) Only 2

(C) Both1and2

(D) Both 1 and 2 are wrong

What is the other local name of Ghee Sankranti
festival ?

(A) Makar Sankranti (B) Olgiya

(C) Phool Dei (D) Poorna Sankranti

Which of the following statements are trye 9
1. Lakhvaad mela is popular fair of Jaunsar-

Bawar

Sanigaad mela is organised in Chaitra

Navaratri

Selku utsav is famous festival of Bp, girathi

valley

Haryali Puda utsav is primarily related to

married daughters

Select the correct answer from the o) de given

pelow :

Code :
(A) 1,3 and 4
() 1,2 and 3

e
3.

4.

(D) Only4

08.

=]
[=

71.

:
3
:
3

GET IT ON
Google Play

~

86/23

Fawavg % fefaftaa < 3T § FH-a

TR 7
%—aﬁzﬁaﬁgﬁﬁiﬁmaﬁm

Rl S
2. JAZ  — AT UGN M A ST
3. WS - Tl (W) A I A e

ST

4, didft - gl < HeIS H TGl ST e
Sale Q!

¥ :

(A) 13 2 (B) 2 3R 3

(C) 1311 3 (D) 2 3K 4

2030 @, S ot
T &, i ¥ vew forite Meamet 1 ey
ST B0 |
S Fet F § -3 e Wl 2/E 7
(A) e 1

(B) 2

(©) 13K 2 g

(D) 1 3R 2 THI TToia &

(A) TR TehIf (B) 3ffirn
(©) T (D) Tt W

l-ga’éggﬁmaﬁw—wwm

|

2. mﬂ#lm% O o3 TR A SRR
|

3. g Iewa wrirelt w1 1 whig

?@—ﬁ?' ' & R

: 1 3cdd J&I &9

Waﬁ?wﬁa%

A fow o et o & W I W TR R |

%

(A) 1,3 374

(C) 1,233

4

(B) 2,334
(D) %9 4
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72. Match the List - I with List — 1 and select the
correct option from the code given below

73.

List -1
a. Hat Kalika 1
b. Varahi Devi 2

e

Surkanda Devi 3

d. Chhinmasta Devi 4.
Code :
a b
(A) 2 3 4
B) 2 3 1

©2 1 3
M1 2 3

List — 11

. Kalimath
. Gangolihat
. Devidhura

Dhanaulti

e R N

Match List — 1 with List — 2 and choose the

right code.
List—1

1. Malooshahi a.

2. Hudki Bol Gatha b.

3. Pawde or Bhadau c.

4, Jagar d.

Code :

List -2

Folk songs based on
Folk beliefs

Folk songs based on
Veér Ras

Folk songs based
on agriculture and
farming

Love story of Rajuli
and Malooshahi

(A) 1-d,2-c,3-b,4-2
(B) 1-a,2—b,3—c,4-d
(C) 1-¢,2-a,3-b,4-d
(D) 1-a,2-d, 3—-¢,4-b

-21-

GET IT ON
Google Play

AT - 18 i s

oy - 11

ﬂmwmwﬁm o
-1 Ty

. EIC HICTHI . FTefis

p, ATl ot 2. Titefrere

o AT 3 iy

el 4 ey

{633 b c d

(A)2 3 4 1

(B) 2 3 1 4

©2 1 3 4

D) 1 2 3 4

L -1 R 2 A P R R w

A HINA |
-1 opo T -2

1. FTCTE @%“’“ a. W AR |
CIBIEGASIELICIY

2 Fgh I A b, R @ W IR
IglERIRIY

3. TEE ea W c. ﬁﬁa@?ﬁa@q(
i T

4. IR 4. TR 9 TR
&l YR

®R:

(4) 1_ ~d,2-¢,3-b,4-2a

()1~a2 b,3-c,4-d

O a3 b 4-d

D) | _

3.2d3 C44/
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74,

15,

e

I which year was the State Infrastructir®
and Industrial Development C Oﬂ"’r"'io"
Uttarakhand Ltd. (SIDCUL) set up in
Uttarakhand State ?
(A) 2002

(©) 2012

(B) 2008
(D) 2015

Statement 1 : The month of ‘Chait’ is called
‘Nachado Maino’ (Month of Dancing).

Statement 2 : In the month of ‘Chait’ the
girls who came to their mother’s home,
danced in ‘Jhumailo and Basanti’ songs.

Which of the following code is true for above
statements ?

Code :

(A) Statement 1 is right, statement 2 wrong
(B) Statement 1 and statement 2 both right
(C) Statement 1 wrong, statement 2 right
(D) Statement 1 and statement 2 both wrong

o

73.

/6

GET IT ON
Google Play

e Fare (ferepen) 1 T R and oy
w7

B4
(A) 2002 g?;’jg‘: (B) 2008

(C) 2012 (D) 2015

w1 2’ 3 T Bl Fre) B’ (=
1) el I 8 |
Wz:‘%ﬁ’%ﬂ@ﬁﬁmmm’ﬂ
‘gﬁ?ﬁﬂﬁﬁ?ﬁ’ﬁ%mqﬂ?ﬁiﬁl
i el 3 RIT FH-81 £ FE & 7
we

(A) YA | Fal, HIA 27TeTd

(B) A 1 3 HeA 2 31 T&t

(C) U 1 7TeAd, e 2 Fell

(D) YT 1 3 HUA 2 QAT TeAd

geft - 1 gt - 2 | gafem Al ik

T faeheq o1 93w i |

et - 1 L G
a. Sgpetl 1. 9
b. STEHTET 2. AT
c. SAe 3. QYT
d. qFere 4. A
Fe:

a b ¢ d
A) 2 4 3 1
(B) 4 2 1 3
©) 2 4 1 g
(D) 4 2 3 1

76. Match the following in List — 1 and List — 2
and choose the right option.
List—1 List—2
a. Chaunphula 1. Peak
b. Barahmasa 2. Folk dance
c. Devguru 3. Observatory
d. Devsthal 4. Folk song
Code :
a b c d
(A) 2 4 3 1
(B) 4 2 1 3
(C) 2 4 1 3
(D) 4 2 3 1
C
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77.  Match the following in List — I and List — II
and then choose the right option.

@Aa1 2
B) 4 1
<O 4 2
D)2 4

List -1 List — II
Mukhya Mantri 1. Oct. 2020
Swarojgar Yojana

Mukhya Mantri

Saur Swarojgar

Yojana 2. Sep. 2021
Mission Gaura

Shakti 3. April 2021

. Mukhya Mantri

Mahalakshmi
Yojana 4. May 2020

a b

W - NN W e
— W W A Qo

78. In the context of Uttarakhand ‘One District-
Two Products’ (ODTP) scheme, match the
List — 1 with List — 2 and choose the right

option.
List —1 List—2
a. Almora 1. Copper ware and
Manduwa biscuits
b. Bageshwar 2. Aipan Craft and

Candle-making craft

GET IT ON
Google Play

86/23
@,Iﬁ@—llﬁﬁﬁ%ﬂﬁﬁqaﬁxg@
L WWWW |
gt -1 g - 11

4 g@qﬂﬁ WU 1. JFER 2020
OISEL

b_g@tiaﬁﬁnaﬂawz. R 2021

CIERl
. forer T e 3. I 2021

o, gEE TEEE 4. T 2020
ST

a b c d
@A)ilx2,'3 4
@4 1 2 3
©)4425%1 3
D)2 4 3 1

78. IW@UE ‘TH NicA-a 39 (3N.FEd.)
AT o el o gt — 1 o g -2 § gaferd

i 3ik Tt feehea =1 =39 hIRTT |
et -1 T -2
a. ITeHIST 1. AR 39 9
mga fergpe
b. ITTR 2. UIUT SHTHE F Shedd
AT shTHe

c. Haridwar 3. Tweed and Bal Mithai c. BiER 3. aaﬂ—g q 919 ﬁIBT§
d. Nainital 4. Jaggery and Honey d. Yfarer 4. 78 9 W&
Code : .
%
a b c d a b c d
(A) 1 3. 4 A1 2 3 4
(B)3 1 2 4 B)3 1 2 4
€3 1 4.- 2 © 3 4- 9
@4 3 2 1 @4 3 2

-23- C
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80.

81.

82.

83.

e

Who among the following made P, v'sil:ns
for English education for the fif e
Tehni Riyasat ? . cpyah
(A) Sudarshan Shah (B) Bhavar" .
(C) Pratap Shah (D) Kiri Shah

‘Goth’ is related to

(A) Fishery

(B) Poultry

(C) Animal Husbandry
(D) Apiculture

/8’1.

Which of the following statement 15 not

correct ?

(A) Amritganga me
Mandal. ‘

(B) Kedarganga meets with
Gangotri. )

(C) Hanumanganga meets with Alaknanda 11
Hanuman Chatti.

(D) Rishiganga meets W
Rishikesh.

ot with Balkhil? in

Ganga i

ith the Ganga in

Given below are two statements, On€ i the 82.

Assertion (A) and the other is the Reason R).

Answer by using code given below.

Assertion (A) : Early kings of Katyuri made

Askot their capital.

Reason (R) : Askot hills was the source of

river Gomati that merge in the river Kali.

(A) (A) is correct, but (R) is wrong

(B) (R) is correct, but (A) is wrong

(C) Both(A) and (R) are correct, but (R) is not
the correct explanation of (A)

(D) Both are wrong

With which movement is ‘Kakodakhal’ 33

associated 7

(A) Uttarakhand State Movement
(B) Dola— Palaki Movement
(C) Gadi - Sadak Movement

(D) Begar Movement

GET IT ON
Google Play
86/23

ﬁm&mmwm? |
(A)‘@,’d’h- BILE (B) |gari 7z
(C) v e (D) Hifd 7z

e%?

A) m,mﬁmﬁwﬁm%.

(B) W,ﬁﬁrﬁﬁﬁn@ﬁmﬁ%,

© W’f’",@maﬁfim@
firerclt 2 |

(D) a{fﬁfﬁn,a;ﬁ%ﬂﬁrhnﬁﬁaﬁ%l

'—ﬁ%aa’&ﬂwﬁqﬂﬁg,@ﬁwmqﬁ
@W(R)mw%l:ﬁ%ﬁw@

(A) (A)TE B, TG ®) T ?
@) (T B, T (A) T
(©) (A) 3 ®R) T aq% "% 7= (R), (B

m’ﬁam@-@%?
(A)Wmamﬁm
(B)zﬁw-maaﬁm
(C) T - W FATAIH

(D) AR e

e ——
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E}I 86/23
g4. Names of fairs of Uttarakl ﬂ?ﬂ A A ; - ﬁ?’h % i &Q
akhand have beep 4 ciic 11 98 3T N
iven in List = I and the oceasi 8, T, mﬁ&lﬁﬂq
gn‘ and the occasion or date of 2 M e 5 F7ern ﬁFQ .
their celebration or beginning has beep iv | n’ﬂa e o % '
in List - 11. Biven -1 W—H
List - 1 List - I1 ) el HE a. 1479y
1. Devidhura Mela a. 14 November ) gﬁmquﬁ qA b, TN g
2. Uttaraini Mela  b. Raksha Bandhan 3 Tt el C. AR Hohity
3. Gauchar Mela c. Makar Sakranti = Rcd <l 91 ={ o a9 3k 3
Choose the option in which fairs and ﬁfﬁ] gﬁﬁ’r" % l
occasion/date are correctly matched. 2-b, 3-c
-a, — U -
(A) 1—-a, 2—-b, 3—c (A)l 3
(B) 1-b, 2-c, 3-a e (B)l—b, 2-c, ‘ —a
(C) 1-¢, 2-b, 3-a gﬁ,“% (C)I—C, 2-b, 3—a
(D) None of the above o (D) Wiﬁ LK Eﬁg T&p[
85. ‘Zyula’ is the measurement unit of \)5/‘ “_’21:(_'“’ M I EEI-TIS; g
(A) Land (B) Water @A) T (B) i
(C) Weight (D) Length () ¥ (D) TS
86. Match the List — I with List — Il and select the /86./@‘1 1w ge - 11 & fiend e e i
correct answer using the code given below. E & IR T gl IM ‘q‘lﬁm |
List -1 List —IT
i | _
a. Uttarakhand 1. Dehradun q Wr‘gis' =1 ;Eﬁ% 1
Judicial and p ! ks
Legal Academy E? fafrep arehrerh
b. Dr. Barthwal 2. Tehri b. 31, FgeaTe 2. fegt
Hindi Academy f&'—?ﬁ JehreHt
c. Rajiv Gandhi 3. Rudrapur ¢. Wiy ¥
Adventure Sports Wﬁﬁ;n bl 3. ¥4
Academy @Ff
d. Uttarakhand 4. Bhawali Ty
Rural Development d :ﬁRT@Ug = 4. YaTcAl
Institute ﬁﬂﬂq ‘H'w-,:[ "
Code : R
a b ¢ d a
A1 2 3 4 (4) | ;’ ¢ d
®a4 1 2 3 (B) 4 3 4
©4 3 2 |1 © ks 2 3
@4 1: 3 12 OyEs 2 1
Geis g

e —— L ——
-25- \
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87.

88.

89.

90.

or
Acmtding to Uttarakhand Expot gm:s lfas
November 2022, which of the follo™™" lted ?
been the largest export item for U i
(A) Vegetable products
(B) Wood and Wood products
(C) Chemical products
(D) Plastics and rubber

v jcal name
Which of the following is the bot3™

of Deodar tree ?

(A) Citrus Deoda; _
(B) Cedrus Déodar' .
(C) Cyotina Deodar
(D) Ficus

In context of freedom struggle in Uttarakhand
which one of the following is not correctly
matched ?

(A) KaluMahra —  Creation of secrete

armed organisation

Attack on Lohaghat
British Barrack

(B) 1857 -

Beginning of ‘Almora
Akhbar’

(C) 1871 A

Establishment of
‘Debating club’ in
Dehradun

(D) 1870 -

Dekaras are refers to
(A) Metal based paintings

(B) Clay models of various Gods and
Goddesses

(C) Clay models of various flowers

(D) Metal based images of various flowers

GET IT ON
Google Play

86/23
87. mzozz§mmaﬁ@%%
Prefrfad § @ PA-H 7E Sy 3 ¢
g 5o FAfd @R 7 |
(A)‘gﬁm
(B) T I THI F I
(C)wrarﬁa?:ﬁrﬁ
(D) T 3T TR
gg.  frefeiRad § ¥ SIER 9§ 1 Iefis g
g ?
(A) TTEH CIGR
(B) HgH TR
(C) TR CoER
(D) HITHE
}/ﬁéﬁmmﬁwmﬁﬁﬁmﬁ
H-a1 gafea T2 8 ?
(A) I AR — gﬁ@ﬁmwrﬂ
fmtor
(B) 1857 _  dremme % fafew 9@
T ATHAT
(C) 1871 _ ‘eHigl AR H
TR
(D) 1870 _ g fesfreE
< TR
00. HE TEIRIT 8
(A) GTg e T

(B)éﬁaﬁtmﬁ%a@”ﬁa
ek N
() faftr= qedt & o<t Hiee

o g o AATIT

-26-
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92,

93.

GET IT ON
Google Play

86/23

frerfrad ht gafera HIRT :
PECIESL L] e wfdferna

a. 8:15 - ———i. 10:15

b. 9:20>< fizafl £ 55
c. 10:357 il 9 : 10

AT g e v mrfyes AT
Match the following : 1|
Clock time Water image / |
a. 8:15 i. 10:15
b. 9:20 ii. 7:585
c. 10:35 iii. 9:10
d. 10:55 iv. 7:35

(A) a—i,b—iii, c —ii, d — iv
(B) a—iv,b—iii,c—ii,d—i
(C) a—i,b—iii,c—iv,d —ii

(D) a-i,b—iv,c—ii, d —iii

If the word “LEADER” is coded as 92.

20-13-9-12-13 - 26, how would you

write the word “LIGHT” ?
(A) 20-16-17-15-27
(B) 20-15-16-18-23
(C) 20-17-15-16-28

(D) 20— 16—15-17-22

d. 10:55—, iv. 7:35
(A) a—i,b—iii,c—ii,d—iv
(B) a—iv, b—iii, c — i, d = i
(©) a—i,b—iii;c;—iv,’d.—jii
(D) a—i,b—iv, c—ii, d —iii
Jfe 3/s¢ “LEADER” T I8 20— 13 -9 —

121326 B, @ I “LIGHT” ! ford
yepR for@t ST ?

(A) 20— 16—17—15-27
(B) 20— 15— 16— 18 —23
(C) 20-17—15-16-28

(D) 20-16-15-17-22

Introducing a woman Ram said, “she is the /93/\@ ufeet 1 aR= g I 3 T,

daughter of the only child of my grandmother.”

How is the woman related to Ram ?

TR B T B gl A B T R
TiReT #1 o W R 7

(A) Mother (A) AT

(B) Sister (B) S&q

(C) Niece (C) wrefisfy
_ (D) Cousin %

=27-
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94, h.\ the following figure, if the C"":d ;,cr(icnl / dq I st A fire feem Gﬂi, T 3
c.lrclcs are joined by horizonta! f‘l:nrcs formed Y@t qa a1t h HJ@m 9 Fifso |
lines, then find the number of 84 X
by these lines.
g M
(A) 8 B) 11 ) & & i
310!
© 10 @ o n (©) 10 (D) 12
CIAD
95. If each letters in the English alphabet is attached ~ 95. fE ST AU 6 T &R H A 365
a value equal to its serial number in the alphabet, FUTHTAT o ShHTh o SUST %, a1 e o o foe
which among the following will have the highest 3G Tft Uit 61 AT SRR § ?
sum of values of all its letters ?
(A) MATHS Faa
(B) STATS (B) STATS
(C) HINDI (C) HINDI
(D) CIVIL (D) CIVIL
96. ffhf’ﬁs.e ttl}l]e app'ropjate option at the place 96. @ 4,6,9,13.5, 7 H 7 FH VMW
71 the series 4,6, 9, 13.5,9 which will 2 ‘ ,i.@w ¥ TR
continue the pattern of the series, * S
(A) 17.5 it % :
(B) 19 (A) 17.5
(C€) 20.25 &) 2
(D) 22.75 (©) 20.25
—_ (D) 22.75
C T =T
A N B
M ’, < ! '
L‘é 9 12.¢ 0,0 o S
IS Tl

GET IT ON
Google Play

86/23
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97. Select . . .
the figure which will continue the

following series,
% (B)
SIS )
—

K

98. The Calendar of the year 2009 is same as that

K]

(A)

© (D)

K
K
K

of the year
(A) 2013 (B) 2014
(C) 2015 (D) 2016
99. If
1. Kailash, Govind and Harinder are
. . EsiE
) mtélhgent.- il
ii. Kailash, Rajesh and Jitendra are ;@‘EE}
hardworking.

iii. Rajesh, Harinder and Jitendra are honest.
iv. Kailash, Govind and Jitendra are
ambitious.
Then which of the following is neither honest
nor hardworking but is ambitious ?
(A) Kailash (B) Govind
(C) Rajesh (D) Harinder

Four villages A, B, Cand D lie in a straight
line. D is 10 kms from B. A is between D and C
and distance of C from B is 2 kms, more than
it is from D. How far is C from B ?

100.

% o 20001 AT ____

GET IT ON
Google Play
86/23
gt FEfIraa sJaen ) g

KX

T H AR |

. o

I )

K

(B)

%

R

EShE

3L

(A)

(D)

©

(B) 2014
‘(D) 2016

(A) 2013
(C) 2015

99 ~afe . S
‘/, i S, e iR BReet gfewm € |
ii. o, ToY 3R Rrawg wfe

gerfig 1
iii, 7o, gfteex 31 Rraw SHMER € |
iv. e, Mg 37K g mecaeniat 2 |
A Y e T @ AR g R A H
ST afterdt ], foheg WecaThiaft B ?
(A) Femw ®) M=
OREH (D) BT

SR TS A,B,C,D Th & @I A& | BAD
b gfl 10freiri 3, ATla DI CcH T |
fRr?, capHi e, cApar fgh @

2 foreifier arfores 8, A BT @ @ 2
(A) 4 Trardiex (B) 6 forerifiex

©) 8freficx (D) 2 fereindiex

100.

(A) 4 kms (B) 6 kms

(C) 8kms (D) 2 kms
Kb ro 1 o__* 29-
KR > ke
T R Hy — ¢ Q———&——’L
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SUNRIGUS Il 94T T TANT

e wERIEnT YA W Fiay, UM WS, IR, IEWGT |
Y / HIA—0135—-2669658 E-mail: chayanayog@gmail.com

THh— ;27,2/w’/w-7/2 02 3-2Yy fodiem: (2 fadeR, 2023

RIS

SIRRETE 3R AT T+ IMANT & AU S=— 49 / SodfooTodTo /2023
i 13 3fdcaR, 2023 NI fAff=1 o # Fde WRIY Edl & sl & fov e
31 fasieR, 2023 BT U 11:00 §91 |/ AWRIET 01:00 S Th forRaa wfaarh wien g=mferd
P |

S forga afoarlt wiem @1 el STR—gfomr il & amaie-mef
IANT BT dgse Www.sssc.uk.gov.in &R SIRY & o 38T ¥ |

g forga ufcar wiem # |ffoad ol @1 gfaa fear o @ &
ISP ITR—Foll & AUET Y1 /SR TR IR/ Yaed! & g fdie 02 S,

2024 BT 3iTes fold SUTE HRAT SR | /&/

(@¥=| Rig )
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